	RESOLU	TION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL				
1	` * *	ng FY-95 Budget Modification for the Office of the Advocate and				
2	Aut	horizing Execution of Attached Conflicts Attorney Contract)				
3		RESOLUTION NO. <u>95-198</u>				
4 5	WHEREAS,	there are no other attorneys to handle conflicts which the Nation's				
6		Advocate Program is not ethically allowed to handle in the				
7 8		increasing needs of tribal members for legal representation in civil				
9		and criminal matters; and				
10 11	WHEREAS,	the Advocate Program wishes to retain a list of attorneys to be				
12		appointed to represent clients with conflicts of interest who can not				
13 14		be represented by the Nation's Advocate Program; and				
15	WHEREAS,	the Advocate Program wishes to retain the conflicts attorney list for				
16 17		the remaining five (5) months of FY-95 Fiscal Year and projects the				
18 19		cost of such services at \$80,000.00; and				
20	WHEREAS,	the Advocate Program has presented a contract for the Conflict				
21 22		Attorneys which confirm and ratify the terms and conditions related				
23		to future services, a copy of which is attached.				
24 25	NOW, THEREFORE, BE IT RESOLVED THAT:					
26		1. The Legislative Council ratifies and approves the Conflict				
27 28		Attorneys Contract, in the form attached hereto, for the Conflict				
	1					

	RESOLUTION NO. 95-198
	(Approving FY-95 Budget Modification for the Office of the Advocate and
1	Authorizing Execution of Attached Conflicts Attorney Contract)
2	Page 3 of 4
3	
4	TOHONO O'ODHAM LEGISLATIVE COUNCIL
5	Sil Ko
6	Alex J. Ramon, Legislative Chairman
7	
8	ATTEST: day of May, 19 II
9	
10	Francis antine
11	Frances Antone, Legislative Secretary
12	8th day of May , 19 95
13	
14	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the day of
15	at 338 o'clock, e. M, pursuant to the provisions of Section 5 of Article
16	VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.
17	Turidic to cities approve of disapprove it within 10 flours of susmitted.
18	TOHONO O'ODHAM LEGISLATIVE COUNCIL
19	
20	Colas Jama
21	Alex J. Ramon, Legislative Chairman
22	
23	APPROVED on the day of May, 1925
24	
25	[] DISAPPROVED at $\frac{\mathcal{L}}{\mathcal{L}}$ o'clock, $\frac{\mathcal{L}}{\mathcal{L}}$.M.
26	- the
27	SYLVESTER LISTO, Chairman
28	TOHONO O'ODHAM NATION

	RESULUTION NO. <u>95-198</u>							
	(Approving FY-95 Budget Modification for the Office of the Advocate and							
1	Authorizing Execution of Attached Conflicts Attorney Contract)							
2	Page 4 of 4							
3								
4	Returned to the Legislative Secretary on the day of							
5	many, 19 95, at 8:32 o'clock, A.M.							
6								
7	Trances antone							
8	Frances Antone, Legislative Secretary							
9								
10								
11								
12								
13								
14								
15								
16								
17								
18								
19								
20								
21								
22								
23								
24								
25								
26								
27								
28								

ACTION:

APPROVING FY-95 BUDGET MODIFICATION FOR THE OFFICE OF THE ADVOCATE AND AUTHORIZING

EXECUTION OF ATTACHED CONFLICTS ATTORNEY CONTRACT

MOVED:

COUNCILMAN EUGENE ENIS, SR.

SECOND: COUNCILWOMAN MARILYN FRANCISCO

DATE:

MAY 02, 1995

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 151.0	WILLARD JUAN, SR. (Delbert Thomas)	75.5	x			
	2. MARY ANN ANTONE (Nellie Miguel)	75.5	х			х
SELLS 290.0	1. ANDREW M. PATRICIO (Lucille Encinas)	145.0	x			х
-	2. JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.)	145.0	x			
SCHUK TOAK 113.0	1. FRANCES FRANCISCO ()	56.5	x			
113.0	2. KENNETH J. ANTONE ()	56.5	x			
SAN XAVIER 135.0	1. EUGENE ENIS, SR. ()	67.5	X			<u> </u>
155.0	2. DENNIS RAMON ()	67.5	x	. 11		
BABOQUIVARI 230.0	FRANCES MIGUEL ()	115.0	x			
	2. EDWARD KISTO (Idelia Stanley)	115.0		х		
GU ACHI	1. WILLARD ANITA	90.0	x			
180.0	2. ALEX J. RAMON (Marian Johnson)	90.0	x			
PISINEMO	1. VACANT (Vacant)	64.0	x			х
128.0	2. JOHNSON M. JOSE (Roselcen Antone)	64.0	х			
SAN LUCY	1. JOHN RENO	49.0	X			
98.0	2. ALBERT MANUEL, JR. (Ernestine Marquez)	49.0	x			х
GU VO	1. EMILIO LEWIS	62.0	x			х
124.0	2. MICHAEL FLORES (Fern Salcido)	62.0	x			
HICKIWAN	1. MANUEL OSEQUEDA, JR.	68.0	х			
136.0	2. LLOYD FRANCISCO	68.0	x			
CHUKUT KUK	1. MARILYN FRANCISCO	89.0	х			
178.0	2. KENNETH WILLIAMS ()	89.0	x			
<u></u>	TOTAL	1,763.0	1,648.0	115.0	-0-	05